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30 =204 $) = r=2(-9)+3
rlsd) 2 2(54-5)+30 =308 -p+
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(a) 9(3)=L3f(t)dt-—-%(4+2)=3
B =f3) =2
9"3) = F(3) = 7=2 = -2

(b) 2(_3);_9@, ” lfaf(t)dt

1

3300+

II

(4+2) %

(c) There are two values of c.

We need = = g'(c) = fle)

The graph of f intersects the line y = % at two

places between 0 and 3.

(d) z=2ad g=5§
because g' = f changes from increasing to
decreasing at z = 2, and from decreasing to

increasing at z = 5.

1:g(3)
3:11:4'(3)
1:4"(3)

3
2¢1maw@aﬁmm
1 : answer

1 : answer of 2
2
1 : reason

Note: 1/2 if answer is 1 by MVT

l:2=2and z=25only
2: 1 1: justification

(ignore discussion at z = 4)

(a) The function fis increasing on (—37—2) since
f'>0for -3<z<-2.

(b) z=0and =2
f' changes from decreasing to increasing at

z = 0 and from increasing to decreasing at

z=2
() fO)=~-
" Tangent line is y = —2z + 3.
@ 1013 = [ foa
=500 -0 = -3

3 9
f(-3) = f(0)+§ =3

f(4) - £(0) ——f (e dt

«-(s ~~2~(2)27r) = —842r

8427 =-5+27

fl4) = f(0) -

{ 1 : interval

1 : reason

5 [1:x=0e;ndx=20nly

1 : justification

1 : equation

—

1
: £(3-2)
(difference of areas

of triangles)

1 : answer for f(~3) using FTC

—

& (8 " %—(2)%)
(area of rectangle

= area of semicircle)

. answer for f(4) using FTC

—






